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＝ 

＝ × 

The number of 
the eggs on a dish 

Number of 
the dishes 

Total number 
of the eggs 

＝ 

We  can write the 

calculation even  

with multiplying 0. 
× 

There are 3 dishes of 4 eggs on them. 
How many eggs are there? 

It is the 4 times 
table. 

There are 3 dishes of nothing on them. 
How many eggs are there? 

We write 0 
egg. 

We get 0 with multiplying 0 by any number. 

Total number 
of the eggs 

Number of 
the dishes 

The number of 
the eggs on a dish 

Good! 
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＝ ０ × 

＝ １ × 

＝ ２ × 

＝ ３ × 

←３mark 
 

２mark 

１mark 

０mark 

Let’s play darts game with a paper written 0, 1 
and 2 on it. We throw a pencil to the target. 

We throw it 
aiming high marks. 

Let’s calculate the score. 
We multiply the marks we’ve hit. 

Calculate the score by filling in 
the boxes of 2 and 3 marks. 

mark number of hits score 



←３mark 

２mark 

１mark 

０ mark 
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＝ ０ × 

mark Number of hits Score 

＝ １ × 

＝ ２ × 

＝ ３ × 

＝ ＋ ＋ ＋ 

＝ ０ × 

mark Number of hits Score 

＝ １ × 

＝ ２ × 

＝ ３ × 

＝ ＋ 

Let’s add up all the scores. 

＋ ＋ 

←３mark 

２mark 

１mark 

０mark 

Let’s add up all the scores. 

We get 0 by multiplying 0 by any 
number as the “3×0”. 

Good! 

Good! 



T22_S01 

０×３＝ 

① ０×４＝ 

０×３＝ 

③ ８×３＝ 

⑤ ６×７＝ 

⑦ ０×２＝ 

⑨ ７×９＝ 

⑪ ０×６＝ 

② ７×０＝ 

④ ９×５＝ 

⑧ ８×０＝ 

⑩ ６×６＝ 

⑫ ９×０＝ 

⑭ ６×３＝ 

⑯ ８×６＝ 

⑥ ７×４＝ 

⑬ ８×９＝ 

⑮ ９×８＝ 

Example  Multiply.  

Exercise  Multiply.  

Good! 
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３ 3 6 9 12 15 18 21 24 27 

The answer of 3×2 is              more than the answer of 3×1.  

３ 3 6 9 12 15 18 21 24 27 

This means if 
the number 
after the × 
increases by 1, 
the answer 
increases by 3 
in the three 
times table. 

Do you remember the rule of multiplication? 

increase by 1 decrease by 1 

increase by 3 decrease by 3 

Good! 

increase by 1 decrease by 1 

increase by 3 decrease by 3 

The answer of 3×5 is              more than the answer of 3×6.  

The answer of 3×2 is              more than the answer of 3×1.  

The answer of 3×5 is              more than the answer of 3×6.  
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The answer of 3×2 is              more than the answer of 3×1.  
 
3×2 ＝3×1＋ 

The answer of 2×6 is              less than the answer of 3×6.  
 
3×5 ＝3×6 － 

Let’s write the number sentence for the rule. 

If one side of the 
equation is 3 
more than the 
other, we can get 
the same answer 
by adding 3 to the 
other side, and 
vice versa. 

Good! 

The answer of 3×2 is              more than the answer of 3×1.  
 
3×2 ＝3×1＋ 

The answer of 2×6 is              less than the answer of 3×6.  
 

3×5＝3×6 － 
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３ 3 6 9 12 15 18 21 24 27 

We can get 
the same 
answer by 
changing the 
order of the 
multiplication.  

Let’s write the rule of calculation.  

The answer of 4×3 is the same as the answer of 3×            .   

４ 4 8 12 16 20 24 28 32 36 

The answer of 4×3 is the same as the answer of 3×            .   
 

３×４＝４× 

The answer of 4×3 is the same as the answer of 3×            .   

 
３×４＝４× 

Do you remember another rule of multiplication? 

We use “=” 
because the 
answers are 
the same. 

Good! 



① ７×５＝７×４＋ 

T22_S02 

③ ９×２＝９×３－ 

⑤ ４×４＝４×５－ 

⑦ ３×６＝３×７－ 

⑨ ２×９＝２×８＋ 

３×２＝３×１＋ ３×２＝３×１＋ 

⑪ ６×４＝６×３＋ 

⑬ ８×６＝８×５＋ 

⑮ ５×５＝５×６－ 

⑰ ７×５＝７×６－ 

⑲ ９×３＝９×４－ 

② ２×７＝７× 

④ ５×４＝４× 

⑥ ６×２＝     ×６ 

⑧ ８×５＝     ×８ 

⑩ ７×３＝３× 

⑫ ８×７＝７× 

⑭ ３×５＝５× 

⑯ ８×３＝     ×８ 

⑱ ９×２＝     ×９ 

⑳ ７×６＝６× 

Example  Fill in the          . 

Exercise  Fill in the          . 

Good! 



Let’s calculate the number of          with two ways.     
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We make a vertical 6         
as a group.  So we have 5 
group horizontally. This 
means we can calculate 6 
× 5 .   ６×５＝３０ 

２×５＝１０ 

４×５＝２０ 

We divide vertical 6 into 
2 and 4. There are two 
groups  which are 5 
group of 2 and 5 group of 
4.  The number of           is  
2×5 plus 4 ×5  = 30 

６×５＝（２×５）＋（４×５） 

The number of           is the same, so the two types of 

solution can be one formula. The meaning of (2×5) and 

(4×5） is calculate first . 

Divide 6 into 2 and 4 before ×, and multiply 5  each 
firstly. If we plus two answers, this is the same number 
as  6 × 5. 

１０＋２０＝３０ 



Next let’s  divide number horizontally. 
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We make a vertical 6         as a 
group.  So we have 5 group 
horizontally. This means we can 
calculate 6 × 5 .   

６×５＝３０ 

６×２＝１２ ６×３＝１８ 

We divide horizontal 5 
into 2 and 3. There are 
two groups  which are 2 
group of 6 and 3 group 
of 2.  The number of           
is  6×2 plus 6 ×3  = 30 

１２＋１８＝３０ 

６×５＝（６×２）＋（６×３） 

The number of           is the same, so the two types of 

solution can be one formula. The meaning of (6×2) and 

(6×3） 

Divide 5 into 2 and 3 before ×, and multiply 6  each 
firstly. If we plus two answers, this is the same number 
as  6 × 5. 



Example   Fill in the           . 

Exercise   Fill in the          . 
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６×５＝（２×５）＋（      ×５） ６×５＝（２×５）＋（      ×５） 

① ５×８＝（３×８）＋（     ×８） ② ４×６＝（４×２）＋（４×     ）  

③ ７×４＝（３×４）＋（     ×４） ④ ６×８＝（６×５）＋（６×     ）  

⑤ ９×６＝（４×６）＋（     ×６） ⑥ ３×９＝（３×６）＋（３×     ）  

⑦ ８×５＝（４×５）＋（     ×５） ⑧ ５×７＝（５×５）＋（５×     ）  

⑨ ９×８＝（５×８）＋（     ×８） ⑩ ７×６＝（７×３）＋（７×     ）  

⑪ ６×７＝（２×７）＋（     ×７） ⑫ ８×６＝（８×５）＋（８×     ）  

⑬ ９×７＝（４×７）＋（     ×７） ⑭ ４×９＝（４×５）＋（４×     ）  

⑮ ５×９＝（２×９）＋（     ×９） ⑯ ３×８＝（３×４）＋（３×     ）  

Good! 
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３×１２＝ 

1) Check the 3 times table one by one. 

 ３× ９＝２７ 

 ３×１０＝ 

 ３×１１＝ 

 ３×１２＝ 

increase 
by 3 

increase 
by 3 

３×１２＝ 

2) Split 12 into two numbers. 

 ３×１２ 
３×     ＝ 

３×     ＝ 

      In total 

３×１２＝ 

increase 
by 3 

Let’s find the answer of 3×12. 

3×12 is in the 3 times 
table. The 3 times table 
increases by 3 when the 
bottom of the number 
increases by 1. 

We split the 
12 into to 
parts and 
multiply. 

You can divide the 
12 into any two 
numbers like 4 
and 8 or 6 and 6. 
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１２×４＝ 

1) Check the 3 times table one by one. 

 ４× ９＝３６ 

 ４×１０＝ 

 ４×１１＝ 

 ４×１２＝ 
increase 
by 4 

increase 
by 4 

１２×４＝ 

2) Split 12 into two numbers. 

         ×４＝ 

     ×４＝ 

      In total 

１２×４＝ 

4×12 is in the 3 times table. 

The 4 times table increases by 

4 when the bottom of the 

number increases by 1. 

increase 
by 4 

We split the 12 

into to parts and 

multiply. 

You can divide the 12 

into any two numbers 

like 4 and 8 or 3 and 9. 

Let’s find the answer of 12×4. 

The answer of 12×4 is 
the same as 4×12.  
12×4 ＝4×12 
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① 

②  

３×１２ 
３ ×  ２  ＝ 

３ ×     ＝ 

      In total 

３×１２ 
３ ×  ２  ＝ 

３ ×     ＝ 

      In total 

６×１１ 
６ ×  １  ＝ 

６ ×     ＝ 

      In total 

  ５   × ４ ＝ 

      × ４ ＝ 

       In total 

１０×４ 

Example  Write the answer in the          . 

Exercise  Write the answer in the          . 

Good! 
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１２×９ 
  ２   × ９ ＝ 

  ３  × ９ ＝ 

     In total 

⑤ 

⑥  

８×１０ 
８ ×  ５  ＝ 

８ ×     ＝ 

      In total 

１１×７ 
  １   × ７ ＝ 

  ３  × ７ ＝ 

       In total 

③ 

④  

５×１１ 
５ ×  １  ＝ 

５ ×     ＝ 

       In total 

Exercise  Write the answer in the          . 
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１０×６ 
  ５   × ６ ＝ 

  ３  × ６ ＝ 

       In total 

⑨ 

⑩  

７×１０ 
７ ×  ５  ＝ 

７ ×     ＝ 

      In total 

１２×３ 
  ２   × ３ ＝ 

  ３  × ３ ＝ 

       In total 

⑦ 

⑧  

２×１１ 
２ ×  １  ＝ 

２ ×     ＝ 

      In total 

Exercise  Write the answer in the          . 
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１０×８ 
  ５   × ８ ＝ 

  ３  × ８ ＝ 

       In total 

⑬ 

⑭  

９×１１ 
９ ×  １  ＝ 

９ ×     ＝ 

       In total 

 

１１×５ 
  １   × ５ ＝ 

  ３  × ５ ＝ 

       In total 

⑪ 

⑫  

４×１２ 
４ ×  ２  ＝ 

４ ×     ＝ 

      In total 

Exercise  Write the answer in the          . 
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３×１２＝ 

① ２×１０＝ 

３×１２＝ 

③ ８×１１＝ 

⑤ ７×１２＝ 

⑦ ９×１０＝ 

⑨ ５×１２＝ 

⑪ ３×１１＝ 

⑬ ４×１２＝ 

⑮ ６×１２＝ 

② １１×２＝ 

④ １０×４＝ 

⑥ １２×６＝ 

⑧ １０×８＝ 

⑩ １１×７＝ 

⑫ １２×９＝ 

⑭ １１×３＝ 

⑯ １０×５＝ 

Exercise  Multiply. 

Example  Multiply. Good! 



１ 1 2 3 4 5 6 7 8 9 

２ 2 4 6 8 10 12 14 16 18 

３ 3 6 9 12 15 18 21 24 27 

４ 4 8 12 16 20 24 28 32 36 

５ 5 10 15 20 25 30 35 40 45 

６ 6 12 18 24 30 36 42 48 54 

７ 7 14 21 28 35 42 49 56 63 

８ 8 16 24 32 40 48 56 64 72 

９ 9 18 27 36 45 54 63 72 81 

10 

11 

12 

T22_S03 

Fill in the blanks of the table. 

Multiplication table up to 12 
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６×   ＝２４ 

１ 1 2 3 4 5 6 7 8 9 

２ 2 4 6 8 10 12 14 16 18 

３ 3 6 9 12 15 18 21 24 27 

４ 4 8 12 16 20 24 28 32 36 

５ 5 10 15 20 25 30 35 40 45 

６ 6 12 18 24 30 36 42 48 54 

７ 7 14 21 28 35 42 49 56 63 

８ 8 16 24 32 40 48 56 64 72 

９ 9 18 27 36 45 54 63 72 81 
６×   ＝２４ 

The multiplication of 6×□ 
is the multiplication table 
of 6. So we search  the 
multiplication which 
answer is 24 from 6 ×1.  

６×   ＝２４ 

Examine the multiplication of 6. 
 ６×１＝ ６ 
 ６×２＝１２ 
 ６×３＝１８ 
 ６×４＝２４ 

Let’s find out the number in         . 

From the multiplication 
table, check column of 3, 
then you can find the 
answer 15. 

From the multiplication 
table, the multiplication 
which is suitable for this 
is 6×4＝24.  

Good! 

Good! 



Let’s find out the number in          . 
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   ×３＝１５ 

We can find  the answer  
15 which is 3 after the 
×from the multiplication 
table as is on the right. 

１ 1  2  3  4  5  6  7  8  9  

２ 2  4  6  8  
1
0  

1
2  

1
4  

1
6  

1
8  

３ 3  6  9  
1
2  

1
5  

1
8  

2
1  

2
4  

2
7  

４ 4  8  
1
2  

1
6  

2
0  

2
4  

2
8  

3
2  

3
6  

５ 5  
1
0  

1
5  

2
0  

2
5  

3
0  

3
5  

4
0  

4
5  

６ 6  
1
2  

1
8  

2
4  

3
0  

3
6  

4
2  

4
8  

5
4  

７ 7  
1
4  

2
1  

2
8  

3
5  

4
2  

4
9  

5
6  

6
3  

８ 8  
1
6  

2
4  

3
2  

4
0  

4
8  

5
6  

6
4  

7
2  

９ 9  
1
8  

2
7  

3
6  

4
5  

5
4  

6
3  

7
2  

8
1  

From the multiplication 
table , the multiplication 
×after 3 and the answer is 
15 is  ５×３＝１５ 

In the multiplication, even we 
exchange the number before × 
and after ×, the answer is same  
□×３＝３×□. ３×□ is the 
three times table. So we search  
the multiplication which answer is 
15 from 3 ×1.  

 

Examine the multiplication of 3  

  ３×１＝ ３ 

 ３×２＝ ６ 
 ３×３＝ ９ 
 ３×４＝１２ 
 ３×５＝１５ 

   ×３＝１５ 

   ×３＝１５ 

Good! 

Good! 



① ４×   ＝２４ 

③ ８×   ＝２４ 

⑤ ６×   ＝４２ 

⑦ ９×   ＝１８ 

⑨ ７×   ＝６３ 

⑪ ８×   ＝４０ 

⑬ ８×   ＝７２ 

⑮ ９×   ＝６３ 

②     ×２＝１４ 

④     ×３＝９ 

⑥     ×５＝２０ 

⑧     ×８＝６４ 

⑩     ×６＝３６ 

⑫     ×４＝３６ 

⑭     ×３＝６ 

⑯     ×６＝４８ 

T22_S04 

６×     ＝２４ ６×     ＝２４ 

Example  Write the answer in the          . 

Exercise  Write the answer in the          . 

Good! 
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⑰ ３×   ＝１５ 

㉑ ５×   ＝１０ 

㉓ ４×   ＝２８ 

㉕ ２×   ＝１０ 

㉗ ７×   ＝５６ 

㉙ ８×   ＝３２ 

㉛ ７×   ＝４２ 

㉝ ９×   ＝５４ 

㉟ ６×   ＝５４ 

⑱     ×４＝８ 

㉒     ×９＝２７ 

㉔     ×６＝１２ 

㉖     ×７＝３５ 

㉘     ×５＝３０ 

㉚     ×７＝６３ 

㉜     ×２＝１２ 

㉞     ×７＝４９ 

㊱     ×５＝３５ 

⑲ ３×   ＝２１ ⑳     ×３＝１２ 

Exercise  Write the answer in the          . 
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３ × ２０ ＝ 

  

３ × ２０ ＝ 

  

３ × ２０ ＝ 

10 

10 

10 

10 

10 

10 

10 

10 

10 

10 

10 

10 

10 

10 

10 

10 

10 

10 

10 

10 

10 

10 

10 

10 

10 

10 

10 

10 

10 

10 

Let’s find the answer of 3×20. 
There are two sets of  
10  in 20. 

20 multiplied by 3 
means that there are 
3 pairs of  10 . 

The answer is that 
there are 2×3 sets 
of  10 . 

2×3 = 6. 
There are 6 
sets of  10 . 
20×3 = 60. 

Good! 
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Let’s find the answer of 200×3. 

  

３ × ２００ ＝ 

200 multiplied by 3 means 

that there are 3 pairs of  

100. 

There are three sets of  
100  in 20. 

  

３ × ２００ ＝ 

  

   ２×３＝  ６ 
  ２０×３＝ ６０ 
２００ ×３＝６００ 

2×3 = 6. 
There are 6 sets of  100 . 
20×3 = 60. 

The answer is that there 
are 2×3 sets of  10 0. 

100 

100 

100 

100 

100 

100 

100 

100 

100 

100 

100 

100 

100 

100 

100 

100 

100 

100 

Let’s compare the three 
number sentences. 

6 sets of 10 

6 sets of 1 

6 sets of 100 

2×3 parts are the 
same but the size 
of the sets are 
different. 

Good! 
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３ × ２０  ＝ ３ × ２０  ＝ 

① ２×３０＝ ② ６×２０＝ 

③ ４×５０＝ ④ ５×４０＝ 

⑤ ３×７０＝ ⑥ ５×６０＝ 

10 

10 

10 

10 

10 

10 

10 

10 

10 

10 

10 

10 

⑩ 
⑩ 
⑩ 
⑩ 
⑩ 

⑩ 
⑩ 
⑩ 
⑩ 
⑩ 

⑩ 
⑩ 
⑩ 
⑩ 
⑩ 

⑩ 
⑩ 
⑩ 
⑩ 
⑩ 

⑩ 
⑩ 
⑩ 

⑩ 
⑩ 
⑩ 

⑩ 
⑩ 

⑩ 
⑩ 

⑩ 
⑩ 

⑩ 
⑩ 

⑩ 
⑩ 

⑩ 
⑩ 

⑩ 
⑩ 
⑩ 
⑩ 
⑩ 
⑩ 
⑩ 

⑩ 
⑩ 
⑩ 
⑩ 
⑩ 
⑩ 
⑩ 

⑩ 
⑩ 
⑩ 
⑩ 
⑩ 
⑩ 
⑩ 

⑩ 
⑩ 
⑩ 
⑩ 

⑩ 
⑩ 
⑩ 
⑩ 

⑩ 
⑩ 
⑩ 
⑩ 

⑩ 
⑩ 
⑩ 
⑩ 

⑩ 
⑩ 
⑩ 
⑩ 

⑩ 
⑩ 
⑩ 
⑩ 
⑩ 
⑩ 

⑩ 
⑩ 
⑩ 
⑩ 
⑩ 
⑩ 

⑩ 
⑩ 
⑩ 
⑩ 
⑩ 
⑩ 

⑩ 
⑩ 
⑩ 
⑩ 
⑩ 
⑩ 

⑩ 
⑩ 
⑩ 
⑩ 
⑩ 
⑩ 

Example  Write the answer in the          . 

Exercise  Write the answer in the          . 

Good! 



Exercise      Solve. 
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⑦ ６×６０＝ ⑧ ３×９０＝ 

⑩ 
⑩ 
⑩ 
⑩ 
⑩ 
⑩ 

⑩ 
⑩ 
⑩ 
⑩ 
⑩ 
⑩ 

⑩ 
⑩ 
⑩ 
⑩ 
⑩ 
⑩ 

⑩ 
⑩ 
⑩ 
⑩ 
⑩ 
⑩ 

⑩ 
⑩ 
⑩ 
⑩ 
⑩ 
⑩ 

⑩ 
⑩ 
⑩ 
⑩ 
⑩ 
⑩ 

⑩ 
⑩ 
⑩ 
⑩ 
⑩ 
⑩ 
⑩ 
⑩ 
⑩ 

⑩ 
⑩ 
⑩ 
⑩ 
⑩ 
⑩ 
⑩ 
⑩ 
⑩ 

⑩ 
⑩ 
⑩ 
⑩ 
⑩ 
⑩ 
⑩ 
⑩ 
⑩ 

⑨ ４×３００＝ ⑩ ５×２００＝ 

100 
100 
100 

100 
100 
100 

100 
100 
100 

100 
100 
100 

100 
100 

100 
100 

100 
100 

100 
100 

100 
100 

⑬ ４×７００＝ ⑭ ２×６００＝ 

100 
100 
100 
100 
100 
100 

100 
100 
100 
100 
100 
100 

100 
100 
100 
100 
100 
100 
100 

100 
100 
100 
100 
100 
100 
100 

100 
100 
100 
100 
100 
100 
100 

100 
100 
100 
100 
100 
100 
100 

⑪ ６×５００＝ ⑫ ４×４００＝ 

100 
100 
100 
100 
100 

100 
100 
100 
100 
100 

100 
100 
100 
100 
100 

100 
100 
100 
100 
100 

100 
100 
100 
100 
100 

100 
100 
100 
100 
100 

100 
100 
100 
100 
100 

100 
100 
100 
100 

100 
100 
100 
100 

100 
100 
100 
100 

100 
100 
100 
100 



Example   Solve. 

Exercise      Solve. 
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３×２０＝ 

① ３×６０＝ 

３×２０＝ 

③ ７×８０＝ 

⑤ ７×５０＝ 

⑦ ２×９０＝ 

⑨ ９×７００＝ 

⑪ ４×８００＝ 

⑬ ９×２００＝ 

⑮ ８×９００＝ 

② ７×３０＝ 

④ ８×２０＝ 

⑥ ５×７０＝ 

⑧ ８×４０＝ 

⑩ ６×６００＝ 

⑫ ６×４００＝ 

⑭ ３×５００＝ 

⑯ ６×３００＝ 

Good! 
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There are 12 tomatoes. If we put 4 tomatoes in a bowl, 
how many bowls do we need? 

We divide 12 
tomatoes into 
4 bowls each. 

We divide 12 tomatoes into 4 bowls each. 

We divide 12 tomatoes into 4 bowls each, 
  
we have                     bowls. Good! 



÷ ＝ 

T23_S01 

Let’s write a number sentence of “division” to find 
out the number of tomatoes.   

If we put 12 tomatoes in                     bowls.  
Each bowl has 4 tomatoes.  

We use “÷” and “＝“ for division. 

If we put 12 tomatoes in                     bowls.  
Each bowl has 4 tomatoes.  

the total number 
of tomatoes 

the number of 
tomatoes in a bowl 

the number 
of  bowls 

We write a number sentence of division in the following order.  
(the total number of things)÷(the number of things in a group) 

                                                                                   ＝(the number of group)  

12÷4 means that we divide 
12 tomatoes into 4 each.  

Good! 
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There are 12 tomatoes. If we share them with 4 members, 
how many tomatoes does each of us have?   

We share 12 
tomatoes with 
4 members. 

We share 12 
tomatoes with 4 
members equally. 

If we share the 12 tomatoes  
with 4 members equally, Each one has                     tomatoes.  

Good! 



÷ ＝ 

12 ÷ 4 means that we divide 12 
tomatoes with 4 members equally. 

T23_S01 

If we want to know the numbers of tomatoes 
per person, we use division. 

Let’s write a number sentence of “division” to 
find out the number of tomatoes per person.  

If we share the 12 tomatoes  
with 4 members equally, Each one has                     tomatoes.  

We also write a number sentence of division in the following order.  
(the total number of things)÷ (the number of group) 
                                                              ＝ (the number of things in a group) 

Good! 

If we share the 12 tomatoes  
with 4 members equally, Each one has                     tomatoes.  

the total number 
of tomatoes 

the number of 
tomatoes in a bowl 

the number 
of  bowls 



÷ 
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There are 12 tomatoes. If we put four tomatoes in each bowl, 
 how many bowls do we have? 

② There are 16 tomatoes. If we put four tomatoes in each bowl, 
     how many bowls do we have? 

③ There are 28 tomatoes. If we put seven tomatoes in each bowl, 
     how many bowls do we have? 

④ There are 15 tomatoes. If we put three tomatoes in each bowl, 
     how many bowls do we have? 

⑤ There are 32 tomatoes. If we put eight tomatoes in each bowl, 
     how many bowls do we have? 

÷ 

÷ 

÷ 

÷ 

÷ 

÷ 

Example  Fill in the           to make a number sentence of division. 

Exercise  Fill in the           to make a number sentence of division. 

1) There are 8 tomatoes. If we put two tomatoes in each bowl, 
     how many bowls do we have? 

Good! 
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⑧ There are 30 tomatoes. If we share with 6 members equally, 
 how many tomatoes do each one has? 

÷ 

⑨ There are 18 tomatoes. If we share with 3 members equally, 
 how many tomatoes do each one has? 

÷ 

⑩ There are 45 tomatoes. If we share with 5 members equally, 
 how many tomatoes do each one has? 

÷ 

⑪ There are 24 tomatoes. If we share with 4 members equally, 
 how many tomatoes do each one has? 

÷ 

⑫ There are 25 tomatoes. If we share with 5 members equally, 
 how many tomatoes do each one has? 

÷ 

⑥ There are 27 tomatoes. If we share with 9 members equally, 
 how many tomatoes do each one has? 

÷ 

⑦ There are 56 tomatoes. If we share with 8 members equally, 
 how many tomatoes do each one has? 

÷ 

Exercise  Fill in the           to make a number sentence of division. 
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４×  １   ＝４ 

４×  ２  ＝８ 

４×  ３  ＝ １２ 

Let’s find the answer of division. 

When we put 12 tomatoes into some bowls  
which have 4 tomatoes each.  
How many bowls do we need? 
number sentence  12÷4 

We put 12 tomatoes into some bowls which have 4 tomatoes each.  
                                                        We can find the number of  bowls 
                                                        in the 4 times table. 

The answer of 12÷4. 

The number of 
tomatoes 
became 12 
when it is 4×3. 

We can find the answer of 
division using multiplication. 
The answer of 12÷4 is in the 
4 times tables because the 
number at the bottom is 4.  
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  １   ×４＝４ 

  ２  ×４＝８ 

  ３  ×４＝ １２ 

Let’s find the answer of another type of division. 

If we share 12 tomatoes with 4 members,  
how many tomatoes does each member have? 
number sentence  12÷4 

We share 12 tomatoes with 4 members equally. 
Find out the number of tomatoes. 

The answer of 12÷4. 

The number of 
tomatoes 
became 12 
when it is 3×4. 

We can find the answer for 
sharing 12 tomatoes with 4 
members by multiplication in 
the form of □×4. 
We can find the answer in the 
4 times tables because 
 □×4 ＝4 ×□ . 
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①   １８÷３＝ 

３×     ＝１８ 

  ２１÷７＝ 

７×     ＝２１ 

  ３６÷４＝ 

４×     ＝３６ 

  ２７÷９＝ 

９×     ＝２７ 

  ４２÷６＝ 

６×     ＝４２ 

  ２４÷８＝ 

８×     ＝２４ 

  １２÷４＝ 

４×     ＝１２ 

  １２÷４＝ 

４×     ＝１２ 

② 

④ 

⑥ 

③ 

⑤ 

Example  Write the answer in the          . 

Exercise  Write the answer in the          . 

Good! 



T23_S02 

  ８÷２＝ 

２×     ＝８ 

  ２４÷３＝ 

３×     ＝２４ 

  １４÷７＝ 

７×     ＝１４ 

  ２０÷５＝ 

５×     ＝２０ 

  １６÷２＝ 

２×     ＝１６ 

  ４０÷８＝ 

８×     ＝４０ 

  ３６÷９＝ 

９×     ＝３６ 

  ３５÷７＝ 

７×     ＝３５ 

  ３２÷８＝ 

８×     ＝３２ 

  ８１÷９＝ 

９×     ＝８１ 

⑦ ⑧ 

⑨ ⑩ 

⑪ ⑫ 

⑬ ⑭ 

⑮ ⑯ 

Exercise  Write the answer in the          . 
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１２÷４＝ 

① ２４÷４＝ 

１２÷４＝ 

③ ２１÷３＝ 

⑤ ４２÷７＝ 

⑦ ２７÷３＝ 

⑨ ６３÷９＝ 

⑪ ６÷６＝ 

⑬ ７２÷９＝ 

⑮ ６４÷８＝ 

② １４÷２＝ 

④ １８÷９＝ 

⑥ １５÷５＝ 

⑧ ４÷４＝ 

⑩ ３６÷６＝ 

⑫ ３６÷４＝ 

⑭ ２４÷６＝ 

⑯ ４８÷６＝ 

Example  Divide . 

Exercise  Divide . 

Good! 



T23_S02 

⑰ ３÷３＝ 

㉑ １０÷２＝ 

㉓ ８÷８＝ 

㉕ １０÷５＝ 

㉗ ４８÷８＝ 

㉙ ２８÷４＝ 

㉛ １８÷６＝ 

㉝ ７２÷８＝ 

㉟ ４５÷９＝ 

⑱ ８÷４＝ 

㉒ ２７÷９＝ 

㉔ １２÷６＝ 

㉖ ５÷５＝ 

㉘ ３０÷５＝ 

㉚ ５６÷７＝ 

㉜ １８÷２＝ 

㉞ ４９÷７＝ 

㊱ ２５÷５＝ 

⑲ ２１÷７＝ ⑳ １２÷３＝ 

Exercise  Divide . 
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㊲ ６÷３＝ 

㊶ ６÷２＝ 

㊸ １６÷８＝ 

㊺ ４５÷５＝ 

㊼ ５６÷８＝ 

㊾ ３２÷４＝ 

   ４２÷６＝ 

   ５４÷６＝ 

   ５４÷９＝ 

㊳ １６÷４＝ 

㊷ ９÷９＝ 

㊹ １５÷３＝ 

㊻ ４０÷５＝ 

㊽ ３０÷６＝ 

㊿ ６３÷７＝ 

   １２÷２＝ 

   ２８÷７＝ 

   ３５÷５＝ 

㊴ ７÷７＝ ㊵ ９÷３＝ 

52 

54 

56 

51 

53 

55 

Exercise  Divide . 
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６÷３＝ 

３÷３＝ 

In case  
of 6. ６÷３＝ 

３÷３＝ 
In case  
of 3. 

We share bananas in a bag equally with 3 members. 
Let’s find it by division. 

How many 
bananas in the 
bag? 

If the number of bananas is 6 and 3 respectively,  
how many bananas do each of them have. 

In case  
of 6. 

In case  
of 3. 

Good! 
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０÷３＝ 

０÷３＝ 

If the number of bananas is 0, 
how many bananas do each of them have. 

<In case of 0 bananas> 

We can use division in case 
of the dividend is 0. 

When we share 0 banana, each of us 
has  0 banana. 

0 divided by any number is 0. 

Good! <In case of 0 bananas> 
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４÷１＝ 

４÷１＝ 

Next, we share 4 tomatoes so that each person has 1 tomato. 
How many tomatoes does each of us have? 

We share 1 tomato with each person. 

4 members. 

Good! 
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０÷３＝ 

① ０÷４＝ 

０÷３＝ 

③ ８÷１＝ 

⑤ ０÷７＝ 

⑦ ５÷５＝ 

⑨ ０÷９＝ 

⑪ ７÷７＝ 

⑬ ６÷１＝ 

⑮ ０÷８＝ 

② ７÷１＝ 

④ ０÷５＝ 

⑥ ０÷６＝ 

⑧ ８÷８＝ 

⑩ ６÷６＝ 

⑫ ９÷９＝ 

⑭ ４÷１＝ 

⑯ ９÷１＝ 

Good! Example  Divide . 

Exercise  Divide . 
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６０ ÷ ３ ＝ 

  

６０ ÷ ３ ＝ 

  

６０ ÷ ３ ＝ 

  
   ６÷３＝  ２ 
  ６０÷３＝ ２０ 

10 

10 

10 

10 

10 

10 

10 

10 

10 

10 

10 

10 

10 

10 

10 

10 

10 

10 

10 

10 

10 

10 

Let’s find the answer of 60÷3. 
There are 6 sets of  
10  in 60. 

We divide 60 by 3, we divide 
6 sets of  10  into 3 groups . 

The answer is that 
there are 6÷3 sets 
of  10 . 

6÷3＝2 
There are 2 sets 
of  10 ,  
60÷3＝20 . 

Let’s compare the 2 
number sentences. 

2 sets of 1 

2 sets of 10 

6÷3 is the same 
but the size of sets 
are different. 

Good! 
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６０ ÷ ３  ＝ ６０ ÷ ３  ＝ 

① ８０÷４＝ ② ９０÷３＝ 

③ ６０÷２＝ ④ ４０÷２＝ 

⑤ ５０÷５＝ ⑥ ８０÷２＝ 

10 

10 

10 

10 

10 

10 

10 

10 

10 

10 

10 

10 

⑩ 
⑩ 
⑩ 

⑩ 
⑩ 
⑩ 

⑩ 
⑩ 

⑩ 
⑩ 

⑩ 
⑩ 

⑩ 
⑩ 

⑩ 
⑩ 

⑩ 
⑩ 

⑩ 
⑩ 
⑩ 

 

⑩ 
⑩ 
⑩ 

 

⑩ 
⑩ 
⑩ 

 

⑩ ⑩ ⑩ ⑩ ⑩ ⑩ 
⑩ 
⑩ 
⑩ 

⑩ 
⑩ 
⑩ 
⑩ 

Good! 

Example  Divide . 

Exercise  Divide . 
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６９ ÷ ３ ＝ 
10 

10 

10 

10 

10 

10 

１ 

１ 

１ 

１ 

１ 

１ 

１ 

１ 

１ 

  

６９ ÷ ３ ＝ 
10 

10 

10 

10 

10 

10 

１ 

１ 

１ 

１ 

１ 

１ 

１ 

１ 

１ 

Let’s think about the way to solve 69÷3. 

69 consists of 6 sets of  
10  and 9   1  . 

We can just divide the 
sets of  10  and  1   by 3 
respectively . 
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６９ ÷ ３ ＝ 

  

６９ ÷ ３ ＝ 
10 

10 

10 

10 

10 

10 

１ 

１ 

１ 

１ 

１ 

１ 

１ 

１ 

１ 

10 

10 

10 

10 

10 

10 

１ 

１ 

１ 

１ 

１ 

１ 

１ 

１ 

１ 

10 

10 

１ 

１ 

１ 

10 

10 

１ 

１ 

１ 

Let’s find out the answer of 69÷3. 

The answer consists of 
6÷3 sets of  10  and 
9÷3   1  . 

There are 6÷3 sets of  
10 , so 60÷3＝20. 
9÷3＝3   1  . 
The answer is 20＋3. 

Good! 
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６９ ÷ ３ ＝ 

６０  

 ９ 
and 

  

６９ ÷ ３ ＝ 

６０ ÷ ３ 

 ９ ÷ ３ 
and 

  

６９ ÷ ３ ＝ 

６０ ÷ ３ ＝   ２０ 

 ９ ÷ ３ ＝     ３ 
and and 

We can get the 
answer of 69÷3 by 
adding the 20 and 3 
which we got by 
dividing 60 and 9 by 3 
respectively. 

⑩⑩⑩ 
⑩⑩⑩ 

①①① 

①①① 
①①① 

Let’s write a number sentence we’ve shown in a diagram. 

We can 
split 69 
into 60 
and 9. 

We divide 60 and 9 
by 3 respectively. 

We can get the 
answer of 69÷3 by 
adding the 20 and 3 
which we got by 
dividing 60 and 9 by 3 
respectively. 
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６９       ÷  ３  ＝ 

÷  ３  ＝ 

÷  ３  ＝ 

and and 

６９       ÷  ３  ＝ 

÷  ３  ＝ 

÷  ３  ＝ 

and and 

４８       ÷  ２  ＝ 

÷  ２  ＝ 

÷  ２  ＝ 

and and 

３６       ÷  ３  ＝ 

÷  ３  ＝ 

÷  ３  ＝ 

and and 

８２       ÷  ２  ＝ 

÷  ２  ＝ 

÷  ２  ＝ 

and and 

６３       ÷  ３  ＝ 

÷  ３  ＝ 

÷  ３  ＝ 

and and 

５５       ÷  ５  ＝ 

÷  ５  ＝ 

÷  ５  ＝ 

and and 

４４       ÷  ４  ＝ 

÷  ４  ＝ 

÷  ４  ＝ 

and and 

① ② 

③ ④ 

⑤ ⑥ 

Good! Example  Divide . 

Exercise  Divide . 
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８４       ÷  ４  ＝ 

÷  ４  ＝ 

÷  ４  ＝ 

and and 

７７       ÷  ７  ＝ 

÷  ７  ＝ 

÷  ７  ＝ 

and and 

６６       ÷  ３  ＝ 

÷  ３  ＝ 

÷  ３  ＝ 

and and 

９９       ÷  ９  ＝ 

÷  ９  ＝ 

÷  ９  ＝ 

and and 

６８       ÷  ２  ＝ 

÷  ２  ＝ 

÷  ２  ＝ 

and and 

３９       ÷  ３  ＝ 

÷  ３  ＝ 

÷  ３  ＝ 

and and 

⑨ ⑩ 

⑪ ⑫ 

⑬ ⑭ 

８６       ÷  ２  ＝ 

÷  ２  ＝ 

÷  ２  ＝ 

and and 

９６       ÷  ３  ＝ 

÷  ３  ＝ 

÷  ３  ＝ 

and and 

⑦ ⑧ 

Exercise  Divide . 
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６９÷３＝ 

① ６０÷３＝ 

６９÷３＝ 

③ ９０÷３＝ 

⑤ ５０÷５＝ 

⑦ ９６÷３＝ 

⑨ ６６÷６＝ 

⑪ ８８÷４＝ 

⑬ ９９÷９＝ 

⑮ ３９÷３＝ 

② ８０÷４＝ 

④ ４０÷２＝ 

⑥ ９０÷３＝ 

⑧ ４８÷４＝ 

⑩ ８６÷２＝ 

⑫ ４８÷２＝ 

⑭ ９９÷３＝ 

⑯ ８４÷４＝ 

Good! 

Exercise  Divide . 

Example  Divide . 
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１４÷４＝ 

１４ ÷ ４  ＝  ３  R  ２ 

Remainder The number 
of  groups 

The number of the 
things in a group 

The total 
number  

There are 14 tomatoes. If we put 4 tomatoes in a bowl, 
how many bowls do we need? 

There is no multiplication 
which is 14 in the 4 times 
table. 

Let’s find out the answer using a diagram. 

We have 3 
bowls and 2 
tomatoes left 
over when we 
put the 14 
tomatoes by 4 
each.  

Let’s look at how we write the answer. 
We write 2 left 
over “R 2”. 



55 
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１４÷４＝ 

４×    ＝ 

１４÷４＝ 

４×    ＝ 

１４－１２＝ 

１４÷４＝ 

４×    ＝ 

１４－１２＝ 

Let’s find the answer of 
14÷4. 

We can use the 
 “4 times table” 
like 12÷4  or 
16÷4. 

Next, we find the remainder. The biggest number 
in the answer in 
 “4 times table” 
which is less than 
14 is 12. 

We can get the 
remainder by 
subtracting 12 from 
14, the number at 
the top. 

Good! 

Good! 

R 
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１５÷４ 

１６÷２ 

１９÷６ 

１５÷４＝３ R ３ 

１６÷２＝８ 

１９÷６＝３ R １ 

Tick in the         of division with a remainder. 

Do you know if they have a remainder 
before you calculate? 

Tick in the         of division with a remainder. 
We should look 
for the answer of 
13÷3 in the “3 
times table”. 

We can’t find any pair in 
a multiplication table for 
divisions with remainder . 

We can’t find 15 in the 4 times table for 15÷4 
and 19 in the 6 times table for 19÷6. 

Good! 
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１４÷４ １４÷４ 

①        ２６÷４ ②        ２４÷３ 

③        ２２÷７ ④        １８÷６ 

⑤        ４２÷７ ⑥        １６÷５ 

⑦        ２７÷９ ⑧        ３５÷６ 

⑨        ２９÷３ ⑩        １６÷８ 

⑪        ３７÷５ ⑫        ２８÷７ 

⑬        ４１÷８ ⑭        ２５÷５ 

Example  Tick divisions with a remainder. 

Exercise  Tick divisions with a remainder. 
Good! 
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１２ ÷ ３ ＝  ４ 

１３ ÷ ３ ＝  ４  R  １ 

１４ ÷ ３ ＝  ４  R  ２ 

１５ ÷ ３ ＝  ５ 

１６ ÷ ３ ＝  ５  R  １ 

１７ ÷ ３ ＝  ５  R  ２ 

１８ ÷ ３ ＝  ６ 

The number 
of onions in 

the  bag 

The number 
of the onions 
on the bowl 

The number 
of the bowl Remainder 

We put 3 onions from a bag in each bowl.  
How many bowls do we need and how many left over? 

How many onions 
in the bag? 

No left over 
means “R 0”. 

The answer varies depending on 
the number of onions in the bag. 

The remainder of 16÷3 is 1,  17÷3 
is 2 and 18÷3 is 0. The remainder 
is smaller than the divisor. 
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１４÷４＝２  R  ６ 

１４÷４＝２ R ６ 

１７÷３＝４ R ５ 

１５÷４＝４ R  １ 

３０÷６＝４   R   ６ 

２６÷５＝５ R   １ 

① 

② 

③ 

④ 

Example  Write          to the wrong answer and write the correct answer. 

Exercise  Write          to the wrong answer and write the correct answer. 

Good! 

R 



T24_S01 

① 

１４÷４＝     R 

② 

④ ③ 

４×     ＝１２ 

１４－１２＝ 

１４÷４＝     R 

４×     ＝１２ 

１４－１２＝ 

１５÷２＝     R 

２×     ＝１４ 

１５－１４＝ 

２３÷４＝     R 

４×     ＝２０

２３－２０＝ 

３１÷５＝     R 

５×     ＝３０ 

３１－３０＝ 

１４÷６＝     R 

６×     ＝１２ 

１４－１２＝ 

Example  Write the answer in the          . 

Exercise  Write the answer in the          . Good! 



Exercise  Write the answer in the          . 

T24_S01 

⑧ 

⑩ ⑨ 

３０÷７＝     R 

７×     ＝２８ 

３０－２８＝ 

２６÷８＝     R 

８×     ＝２４ 

２６－２４＝ 

３８÷９＝     R 

９×     ＝３６ 

３８－３６＝ 

１８÷４＝     R 

４×     ＝１６ 

１８－１６＝ 

⑤ ⑥ 

⑦ 

１３÷２＝     R 

２×     ＝１２ 

１３－１２＝ 

２０÷３＝     R 

３×     ＝１８ 

２０－１８＝ 

⑫ ⑪ ５０÷６＝     R 

６×     ＝４８ 

５０－４８＝ 

６５÷７＝     R 

７×     ＝６３ 

６５－６３＝ 



Example   Write the answer in the    . 

Exercise  Write the answer in the          . 
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１４÷４＝      R １４÷４＝      R 

①  ９÷２＝      R ② ３０÷４＝      R 

③ １４÷５＝     R ④ ２６÷６＝     R 

⑤ ５５÷９＝      R ⑥ ４４÷６＝      R 

⑦ １４÷３＝      R ⑧ １５÷７＝     R 

⑨ ３４÷８＝     R ⑩ ４８÷９＝      R 

⑪ ２０÷３＝      R ⑫ ４２÷８＝      R 

⑬ ５０÷７＝      R ⑭ ３９÷４＝     R 

Good! 
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① ５０÷８＝ ② １０÷９＝ 

③ １７÷２＝ ④ １１÷２＝ 

⑤ １０÷４＝ ⑥ ６０÷７＝ 

⑦ ４８÷５＝ ⑧ ６０÷８＝ 

⑨ ２０÷９＝ ⑩ ６５÷９＝ 

⑪ ８４÷９＝ ⑫ ３４÷４＝ 

⑬ ５８÷６＝ ⑭ ７５÷８＝ 

Example   Write the answer in the  

Exercise  Write the answer in the          . 
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１４÷４＝ １４÷４＝ 

Good! 

R 
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１４÷５＝ 

１４÷５＝ 

１４÷５＝ 

５  ×  ２ ＋ ４ ＝ １

４ 
Remainder The number 

of the group 

The number of 
the things in  

the group 

The total 
number 

 ５＞４ the remainder is smaller than the divisor 

There are 14 tomatoes. If we put 5 tomatoes in a bowl, 
how many bowls do we need? 

We use the  
“5 times table” 
because we put 
them 5 each. 

We got the answer. 

Let’s think about how to check the answer. 

First, we check if the remainder is smaller than 
the divisor. Next, add the number of tomatoes 
in the bowls to the remainders and if the sum 
is equal to the original number. 

We got 14 by 
calculating the 
answer, so it is 
correct.  
We can check the 
answer in this way.   

R 

R 
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１４÷５＝      R 

５×    ＋    ＝ 

１４÷５＝      R  

５×    ＋    ＝ 

２７÷４＝     R 

４×    ＋    ＝ 

２４÷７＝     R 

７×    ＋    ＝ 

２０÷６＝      R 

６×    ＋    ＝ 

① 

② 

③ 

Example  Divide. Check the answer. 

Exercise  Divide. Check the answer. 

Good! 
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３０÷９＝      R 

９×    ＋    ＝ 

４０÷６＝      R 

６×    ＋    ＝ 

２８÷３＝      R 

３×    ＋    ＝ 

⑥ 

⑦ 

⑧ 

４５÷６＝     R 

６×    ＋    ＝ 

１８÷５＝      R 

５×    ＋    ＝ 

④ 

⑤ 

Exercise  Divide. Check the answer. 
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４２÷８＝      R 

８×    ＋    ＝ 

３２÷６＝      R 

６×    ＋    ＝ 

３３÷４＝      R 

４×    ＋    ＝ 

⑪ 

⑫ 

⑬ 

２２÷５＝      R 

５×    ＋    ＝ 

３０÷７＝     R 

７×    ＋    ＝ 

⑨ 

⑩ 

Exercise  Divide. Check the answer. 
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１４÷５＝ 

１４÷５＝ 

１４÷５＝ 

５  ×  ２ ＋ ４ ＝ １

４ 
Remainder The number 

of the group 

The number of 
the things in  

the group 

The total 
number 

 ５＞４ the remainder is smaller than the divisor 

There are 14 tomatoes. If we put 5 tomatoes in a bowl, 
how many bowls do we need? 

We use the  
“5 times table” 
because we put 
them 5 each. 

We got the answer. 

Let’s think about how to check the answer. 

First, we check if the remainder is smaller than 
the divisor. Next, add the number of tomatoes 
in the bowls to the remainders and if the sum 
is equal to the original number. 

We got 14 by 
calculating the 
answer, so it is 
correct.  
We can check the 
answer in this way.   

R 

R 
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１４÷５＝      R 

５×    ＋    ＝ 

１４÷５＝      R  

５×    ＋    ＝ 

２７÷４＝     R 

４×    ＋    ＝ 

２４÷７＝     R 

７×    ＋    ＝ 

２０÷６＝      R 

６×    ＋    ＝ 

① 

② 

③ 

Example  Divide. Check the answer. 

Exercise  Divide. Check the answer. 

Good! 



T24_S02 

３０÷９＝      R 

９×    ＋    ＝ 

４０÷６＝      R 

６×    ＋    ＝ 

２８÷３＝      R 

３×    ＋    ＝ 

⑥ 

⑦ 

⑧ 

４５÷６＝     R 

６×    ＋    ＝ 

１８÷５＝      R 

５×    ＋    ＝ 

④ 

⑤ 

Exercise  Divide. Check the answer. 
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４２÷８＝      R 

８×    ＋    ＝ 

３２÷６＝      R 

６×    ＋    ＝ 

３３÷４＝      R 

４×    ＋    ＝ 

⑪ 

⑫ 

⑬ 

２２÷５＝      R 

５×    ＋    ＝ 

３０÷７＝     R 

７×    ＋    ＝ 

⑨ 

⑩ 

Exercise  Divide. Check the answer. 



Let’s look at how to write the number more than 9999. 
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   ９＋１＝ 

  ９９＋１＝ 

 ９９９＋１＝ 

９９９９＋１＝ 

   ９＋１＝ 

  ９９＋１＝ 

 ９９９＋１＝ 

９９９９＋１＝ 

Answer the 
number 
increased by 
one. 

Let’s read 10 000 

１００００ 
10 000 has ten 
1000 

Good! 

ten  thousand  

ten  thousand  

The number 
which one more 
than 9999 has 
four 0s. 



１０００１ 

１００００ １ 

１０００２ 

１００００ ２ 

The numbers from 10001 also increases by one. Let’s look at how to read. 
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What is the number which some 10 000 gather together? 

Two    10 000 is 

Three 10 000 is  

Four   10 000 is 

We read 
1001 as 1000 
and 1. 

 

One 10 000 is 
10 000  

Good! 

Two 10 000 is 

Three 10 000 is  

Four 10 000 is 

Five 10 000 is 50 000, six 10 000 is 60 000 

seven 10 000 is 70 000, eight 10 000 is 80 000 

and nine 10 000 is 90 000.  

Ten thousand one Ten thousand two 

Ten thousand one Ten thousand two 
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Let’s read the number from 10 000 to 90 000. 

20 000 is 20 of 1 000 

We also represent from 30 000 to 90 000 by using sets of 1 000  .  

１０ ０００ 

２０ ０００ 

３０ ０００ 

４０ ０００ 

５０ ０００ 

６０ ０００ 

７０ ０００ 

８０ ０００ 

９０ ０００ 

ten thousand 

twenty thousand 

thirty thousand 

forty thousand 

fifty thousand 

sixty thousand 

seventy thousand 

eighty thousand 

ninety thousand 
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１００００ 

１０００１ 

２０ ００１ 

 

２１ ０００ 

 

３２ ０００ 

 

４０ ５６０ 

 

５７ ９２０ 

Good! 

Example  Write how to read the numbers in          . 

Exercise  Write how to read the numbers in          . 

ten thousand  

ten thousand  one 
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６０ ０３８ 

 

７９ ４０５ 

 

８４ ２９３ 

 

９５ ７２１ 

 

９９ ９９９ 

 

Exercise  Write how to read the numbers in          . 
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９９９９９＋１＝ 

Let’s look at the numbers from 99 999 increased by one. 

９９９９９＋１＝ 

Let’s read 100 000. 

１０００００ 
100 000 has 
hundred of 
1000. 

9 999＋１is 10 000 

１ ０００ 

１０ ０００ 

１００ ０００ 

We read some 
thousands 
from 1000 to 
100 000. 

Good! 

hundred  thousand  

hundred   

thousand  

Let’s compare how to read 1 000, 10 000 and 100 000. 

one  thousand  

ten  thousand  

hundred  thousand  



１００００１ 

１０００００ １ 

１００００２ 

１０００００ ２ 

The numbers from 100 001 also increases by one. Let’s look at how to read. 
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We read 
10001 as 
10000 
and 1. 

Five 100 000 is 500 000, six 100 000 is 600 000 

seven 100 000 is 700 000, eight 100 000 is 800 000 

and nine 100 000 is 900 000.  

What is the number which some 100 000 gather together? 

Good! 

Hundred thousand one 

hundred  

thousand 

one Hundred 

thousand 

two 

Hundred thousand two 

Two    100 000 is 

Three 100 000 is  

Four   100 000 is 

Two    100 000 is 

Three 100 000 is  

Four   100 000 is 
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Let’s read the number from 100 000 to 900 000. 

１００ ０００ 

２００ ０００ 

３００ ０００ 

４００ ０００ 

５００ ０００ 

６００ ０００ 

７００ ０００ 

８００ ０００ 

９００ ０００ 

200 000 is 200 of 1 000 

We also represent from 300 000 to 900 000 by using sets of 1 000  .  

hundred thousand 

two hundred thousand 

three  hundred thousand 

four hundred thousand 

five hundred thousand 

six hundred thousand 

seven hundred thousand 

eight hundred thousand 

Nine hundred thousand 



 

 

２００ ００４ 

 

２１０ ０００ 

 

３２０ ０００ 

 

４０５ ６００ 

 

５７９ ２１６ 

T25_S01 

１０００００ 

１００００１ Good! 

Example  Write how to read the numbers in          . 

Exercise  Write how to read the numbers in          . 

hundred thousand  

hundred thousand  one 
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６００ ３８０ 

 

７９４ ３０２ 

 

８４２ ９３５ 

 

９５７ ２１３ 

 

９９９ ９９９ 

Exercise  Write how to read the numbers in          . 



T25_S01 

９９９９９９＋１＝ 

９９９９９９＋１＝ 

１００００００ 

１０００００１ 

１００００００ １ 

１０００００２ 

１００００００ ２ 

Good! 

Let’s look at the numbers from 999 999 increased by one. 

Let’s read 1 000 000 

1 000 000 has 
one of 1000000. 

99 999＋１is 100 000. 

one   

million  

The numbers from 1 000 001 increases by one. Let’s look at how to read 

The numbers 
from 100 001 
also read 100 
000 and 1. 

one million  

One million one One million two 

One million one One million two 
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What is the number which some 1 000 000 gather together? 

Five 1 000 000 is 5 000 000, six 1 000 000 is 6 000 000 

seven 1 000 000 is 7 000 000, eight 1 000 000 is  

8 000 000 and nine 1 000 000 is 9 000 000.  

Two    1 000 000 is 

Three 1 000 000 is  

Four   1 000 000 is 

Two    1 000 000 is 

Three 1 000 000 is  

Four   1 000 000 is 

Good! 
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１ ０００ ０００ 

２ ０００ ０００ 

３ ０００ ０００ 

４ ０００ ０００ 

５ ０００ ０００ 

６ ０００ ０００ 

７ ０００ ０００ 

８ ０００ ０００ 

９ ０００ ０００ 

Let’s read the number from 1 000 000 to 9 000 000. 

2 000 000 is 2 of 1 000 000. 

We also represent from 3 000 000 to 9 000 000 by using sets of 1 000 000.  

One million 

Two million 

three  million 

four million 

five million 

six million 

seven million 

eight million 

Nine million 
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１００００００ 

１０００００１ 

２ ０００ ００１ 

 

２ １００ ０００ 

 

３ ４００ ０００ 

 

４ ０５６ ０００ 

 

５ ７９２ ３００ 

Good! 

Example  Write how to read the numbers in          . 

Exercise  Write how to read the numbers in          . 

One million 

One million one 
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６ ０００ ３８０ 

 

７ ９８３ ４０５ 

 

 

８ １４２ ５９３ 

 

９ ８５７ ６２１ 

 

 

９ ９９９ ９９９ 

Exercise  Write how to read the numbers in          . 



999 999 + 1 = 1 000 000 
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９９９９９９９＋１＝ 

９９９９９９９＋１＝ 

１０００００００ 

１００００００１ 

１０００００００ １ 

１００００００２ 

１０００００００ ２ 

Good! 

Let’s look at the numbers from 9 999 999 increased by one. 

Let’s read 10 000 000. 

10 000 000 has 
tens of 1 000 000. 

Ten million 

The numbers from 10 000 001 increases by one. 

1 000 001 is 
also read  
1 000 000 and 1. 

ten million  

Ten million one ten million two 

ten million one ten million two 
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Good! 

What is the number which some 100 000 gather together? 

Five 10 000 000 is 50 000 000, six 10 000 000 is 60 00 000 

seven 10 000 000 is 70 000 000, eight 10 000 000 is 80 000 000 

and nine 10 000 000 is 90 000 000.  

Two    10 000 000 is 

Three 10 000 000 is  

Four   10 000 000 is 

Two    10 000 000 is 

Three 10 000 000 is  

Four   10 000 000 is 
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１０ ０００ ０００ 

２０ ０００ ０００ 

３０ ０００ ０００ 

４０ ０００ ０００ 

５０ ０００ ０００ 

６０ ０００ ０００ 

７０ ０００ ０００ 

８０ ０００ ０００ 

９０ ０００ ０００ 

Let’s read the number from 10 000 000 to 90 000 000. 

20 000 000 is 20 of 1 000 000. 

We also represent from 30 000 000 to 90 000 000 by using sets of 1 000 000.  

ten million 

twenty million 

thirty  million 

forty million 

fifty million 

sixty million 

seventy million 

eighty million 

Ninety million 
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９９９９９９９９＋１＝ 

９９９９９９９９＋１＝ 

１００００００００ 

１ ００００００ 

１０ ００００００ 

１００ ００００００ 

Good! 

Let’s look at the numbers from 99 999 999 increased by one. 

Let’s read 100 000 000. 

100 000 000 
has hundred of 
1 000 000. 

9 999 999＋１is 10 000 000. 

We read some 
million from  

1 000 000  to 
100 000 000. 

hundred   

million 

Let’s compare how to read 1 000 000, 10 000 000 and 

100 000 000. 

hundred million  

one  million  

ten  million  

hundred  million  
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１０００００００ 

１００００００１ 

２０ ０００ ００１ 

 

２４ ０００ ０００ 

 

３２ ０００ ０００ 

 

４０ ００５ ６００ 

 

５３ ７９６ ５２０ 

Good! 

Example  Write how to read the numbers in          . 

Exercise  Write how to read the numbers in          . 

Ten million 

Ten million one 
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６０ ０００ ０３８ 

 

７９ １８３ ４０５ 

 

 

８４ ７４２ ５９３ 

 

 

９９ ９９９ ９９９ 

 

 

 

１００ ０００ ０００ 

Exercise  Write how to read the numbers in          . 
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２００００＋３００００       ６００００ ＜ 

２００００＋３００００       ６００００ 

It is easy to think 
as sets of 10 000 

２００００＋３００００       ６００００ 

10000 

10000 

10000 

10000 

10000 

10000 

10000 

10000 

10000 

10000 

10000 

  ２  ＋  ３           ６ 

  ２  ＋  ３           ６ ＜ 

Let’s compare “20 000+30 000” and “60 000”. 

Fill in the          with  >, < or = . 

“5>3” means 5 is larger than 3. 

Think “20 000+30 000” and “60 000” as a set of  10 000 . 

Good! 



Let’s compare “40 000+3 000” and “47 000”. 

Fill in the          with  >, < or = . 
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４７０００       ４００００＋３０００ ＞ 

４７０００       ４００００＋３０００ 

We think them 
as sets of 1000 
because 
smallest 
number is 3000. 

４７０００       ４００００＋３０００ 

   ４７       ４０   ＋  ３ 

   ４７       ４０   ＋  ３ ＞ 

Think “40 000+3 000” and “47 000” as a set of  10 000  . 

1000 
1000 
1000 
1000 
1000 
1000 
1000 

1000 
1000 

1000 

1000 
1000 
1000 
1000 
1000 
1000 
1000 

1000 
1000 

1000 

1000 
1000 
1000 
1000 
1000 
1000 
1000 

1000 
1000 

1000 

1000 
1000 
1000 
1000 
1000 
1000 
1000 

1000 
1000 

1000 

1000 
1000 
1000 
1000 

1000 
1000 

1000 

1000 
1000 
1000 
1000 
1000 
1000 
1000 

1000 
1000 

1000 

1000 
1000 
1000 
1000 
1000 
1000 
1000 

1000 
1000 

1000 

1000 
1000 
1000 
1000 
1000 
1000 
1000 

1000 
1000 

1000 

1000 
1000 
1000 
1000 
1000 
1000 
1000 

1000 
1000 

1000 

1000 
1000 
1000 

Good! 
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① ５００００＋４００００        ８００００ 

② ７２０００        ３０００＋７００００ 

③ ８０００００－３０００００        ６０００００ 

④ ５４００００        ５７００００－３００００ 

⑤ ４２００００－１０００００        ４０００００ 

⑥ ５８０００００        ５００００００＋８００００ 

２００００＋３００００        ６００００ ＜ 

⑦ 30 000 000＋20 000 000         90 000 000－50 000 000 

Example  Fill in the           with > , < or =.  

Exercise  Fill in the           with > , < or =.  

Good! 



0 10000 100000 

0 10000 20000 30000 40000 50000 

0 10000 20000 30000 60000 40000 70000 50000 80000 90000 

0 10000 20000 30000 60000 40000 70000 50000 80000 90000 

0 10000 100000 

0 10000 20000 30000 40000 50000 

T25_S02 

② 

③ 

④ 

⑤ 

One units means ① 

Example  Fill in the missing number.  

Exercise  Fill in the missing number.  

Good! 



100000 200000 

0 100000 200000 300000 400000 500000 

10000 20000 

10000 20000 

⑦ 

⑧ 

⑩ 

⑪ 

T25_S02 

⑫ 

10000 20000 

⑥ 

0 100000 1000000 

⑨ 

0 100000 200000 300000 400000 500000 

Exercise  Fill in the missing number.  

One units means 

One units means 



36000 37000 36500 

9800000 9900000 

720000 730000 725000 

76000 77000 

0 10000 20000 30000 40000 50000 
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① 

② 

③ 

④ 

２４０００ 

７６５００ 

７２３５００ 

９８３７０００ 

３６６００ 

9850000 

Example  Tick the correct answer. 

Exercise  Tick the correct answer. 

Good! 



The number which is made of 23  10 000  is                                                        . 

The number which is made of 23  10 000  is                                                         . 

T25_S02 

⑤ 

① 

③ 

⑥ 

⑦ 

⑧ 

② 

④ 

Example  Write the correct answer in the          . 

Exercise  Write the correct answer in the          . 
Good! 

The number which is made of 23  10 000  is                                     . 

The number which is made of 23  100 000  is                                                        . 

The number which is made of 23  100 000  is                                                        . 

The number which is made of 23  1 000 000  is                                                        . 

The number which is made of 23  1 000 000  is                                                        . 

The number which is made of 23  1 000  is                                                        . 

The number which is made of 23  1 000  is                                                        . 



The number which is made of 8  10 000 000   , 0   1 000 000  , 0   100 000   and  

 

2  10 000     is                                                                        . 

The number which is made of 7  10 000 000   , 0   1 000 000  , 6   100 000   and  

 

3  10 000    is                                                                         . 

The number which is made of 2  10 000 000   , 2   1 000 000  , 7   100 000   and  

 

1  10 000    is                                                                        . 

The number which is made of 3  10 000 000   , 1   1 000 000  , 5   100 000   and  

 

0  10 000     is                                                                       . 

The number which is made of 5  10 000 000   , 7   1 000 000  , 3   100 000   and  

 

4  10 000     is                                                                        . 

The number which is made of 2  10 000 000   , 1   1 000 000  , 3   100 000   and  

 

5  10 000    is                                                                         . 

T25_S02 

① 

② 

③ 

④ 

⑤ 

Good! 

Example  Fill in the missing number.  

Exercise  Fill in the missing number.  



The number which is made of                                  100 000   is 7 500 000. 

T25_S02 

① 

② 

③ 

④ 

⑥ 

⑧ 

⑤ 

⑦ 

Good! Example  Fill in the missing number.  

The number which is made of                       10 000   is 180 000. 

Exercise  Fill in the missing number.  

The number which is made of                                10 000   is 260 000. 

The number which is made of                                10 000   is 410 000. 

The number which is made of                                 100 000   is 6 600 000. 

The number which is made of                              1 000 000   is 8 000 000. 

The number which is made of                           1 000 000   is 39 000 000. 

The number which is made of                                 1 000   is 180 000. 

The number which is made of                                 1 000   is 570 000. 



The numbers which is made of                   10 000 000  ,                      

 

1 000 000  ,                     10 000   and                   10 000    is 26 430 000.  

The numbers which is made of                   10 000 000  ,                      

 

1 000 000  ,                     10 000   and                   10 000    is 78 630 000.  

The numbers which is made of                   10 000 000  ,                      

 

1 000 000  ,                     10 000   and                   10 000    is 36 270 000.  

The numbers which is made of                   10 000 000  ,                      

 

1 000 000  ,                     10 000   and                   10 000    is 81 630 000.  

T25_S02 

① 

② 

③ 

④ 

Good! 

Example  Fill in the missing number.  

Exercise  Fill in the missing number.  

The numbers which is made of                   10 000 000  ,                      

 

1 000 000  ,                     10 000   and                   10 000    is 35 640 000.  



The numbers which is made of                   10 000 000  ,                      

 

1 000 000  ,                     10 000   and                   10 000    is 36 900 000.  

The numbers which is made of                   10 000 000  ,                      

 

1 000 000  ,                     10 000   and                   10 000    is 23 270 000.  

The numbers which is made of                   10 000 000  ,                      

 

1 000 000  ,                     10 000   and                   10 000    is 56 080 000.  

The numbers which is made of                   10 000 000  ,                      

 

1 000 000  ,                     10 000   and                   10 000    is 30 500 000.  

The numbers which is made of                   10 000 000  ,                      

 

1 000 000  ,                     10 000   and                   10 000    is 20 050 000.  

T25_S02 

⑤ 

⑥ 

⑦ 

⑧ 

⑨ 

Exercise  Fill in the missing number.  


